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Section 5.3 — 5.4 Quiz Review Date : g

Solve each equation. If there is no interval specified, please find all solutions.
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For questions #5 8, simplify and evaluate.
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9) Simplify tan(x —27) . Do not evaluate.
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11) If tanx :é, tan/i’z%z—, and O<« <ﬂ<%, please find cos(a — ).

(0 o (OSP SN SING Afor ot At p
3 5 LRYAS .6 By
(E)(E)*( )(“’) Ly \ Z ‘n
3
16 uy 3
B X 52’k
qrlb=X s+ =X
=| G4 B log=X
©9 e x=13
X5
cosd=% Cos §
sind = £ smp:
12) If tanx =2 and tan f =—, please evaluate tan(a — ) E
fand-tanp -5 2- -

I S b 1
4 P = "' < _ij— - .‘f - l . ‘—(- < l
T T T O A

i3-16
For questions ##0=32, solve the trigonometric equations on the interval [0,27).
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SINXCOPY  Cogksmny

e, b SXcosy HosX SNy ) SINXCOSY + LIXSINY ¢
(osX sy | ‘ WXy awpxeosy

(.OSX(.()&Y
sINX N E\_n_y
WSk sy
2 ta ’
Answer Key: \+anx+ "
4 - V2 -6 J Ty
1)—+25’(: 7}:(: / 5) == 9) tanx v/ 13) -
2) £+@ V4 6) V26 v/ 10) a. —A‘/ b. i 14) 51,7—” v/
2 3 4 221 140 4 4
3)£,.2_7r’4_”,5_” / 7)_i§_ \/ 11)6—3¢ 15)0\/
9°9 9 9 2 65
4) %+47m,77”+47m / 8)0 v/ 12) % v 16) 2tanr /

17) tanx+tan y v



